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1 LR 0 K $1,000
2 ol R B ok 4 $2,500
3 i B FxAE $2, 000
4 i ok $1, 000
5 kR yokE $2, 500
6 A kR 2 %4r $1,500
7 R ] okl $1,500
8 ~ BRI 31k 7 $1,500
9 R ] Exp $1,500
10 k] Bk 13 $1,000
11 AR b kg $2,500
12 PR ek $5,000
13 AR 5 g $1,500
14 AT T Aok $1, 500
15 SR 2y $1,500
16 AT EX] $1,000
17 A BB I $1,000
18 A 4R T I ok der $1,000
19 ARE RS $1, 500
20 AT ok $3,000
21 F R IR 5k $1,000
22 AR ki $1,500
23 A BB 3%t $1,500
24 PR ¥ 5 $1,500
25 PR R 3 %% $1,500
26 AR ok E $3,000
21 AT IR kP $1, 500
28 R ok $1,000
29 A R = $1,000
30 %R % % $2,000
31 g Exm $2,000
32 X R PRk R $2,500
33 LRI @ kiR $1,500
34 <% R 3k $1, 000
35 R ok s $1,500
36 R g $1, 000
37 L% R ExE $3, 000
38 <% Rl 2 % $2,000
39 ¢ LR ok P $1, 500
m Y L i $3, 000
41 ¢ R Bkt $1, 500
42 ¢ LR B ok $1, 500
43 ¢ X $1,500
44 5% %I oy $3,000
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Plowe FE L &9
45 5B I Exs 81,500
46 SR IR kg 51, 000
417 5B I 5 % = 52,000
48 B % % I kP $2, 000
49 5B I Axh 81,500
50 B % % I 5ok $1, 000
51 3B F 5 % 4 $1,500
52 e Bk 5L 500
53 PP 56 % Wi $2,000
$6, 000
54 PP Bk
55 PRI T 81,500
56 ki Heokdg 53,000
57 P % Bk $1, 500
58 ek W ok $4,500
59 ki ®okk $2,500
60 ek T $1,500
61 ki Bk $2,500
62 ek kT $3, 000
63 L 31k ¥ $1,500
64 L E I X ik $1, 000
65 L Ak $2, 000
66 LRI 1k #t $2. 500
67 kR B 3% 5k $3, 000
68 LRI F sk 82 $1,500
69 Lk P $1,500
70 LR L $1,500
71 Lk ko $1, 000
72 LR 3ok $1,500
73 kR B ok $1, 000
74 2w 3 x% $1, 000
75 Lk B B E $1, 000
76 2w + ki $1,500
77 ¢ 3R A $2, 000
78 YR ER $1, 000
79 31 LS $3, 000
80 YR EX A $1, 000
81 31 R $1,500
82 YR By $2, 000
83 31 3 %% $1,500
84 L] LES) $2,500
85 31 L1 81, 000
86 g kR 81,500
87 g Bk P 81,500
88 PRI BUX & $1, 500




A TR R (1078 &R ¥28 ) MAL M8 R oo

s H i  E, s -

% = R £ 3F

89 YRR k2 $2,500
90 ¢RI 3 % $1,000
91 ¢RI ok E $2,500
92 4R IR ok b $1, 000
93 FES % $2, 000
94 FERI ok $1,500
95 FEF G UK A $1,500
96 FET 5k 1 $1,500
97 §ET ke $1,500
98 ¥ ER ok de $1,000
99 §E T $2,500
100 FER 5%k $1,500
101 §ER I 1% $1,500
102 FER B $1,500
103 §E 1 xE $2,500
104 FET Bk s $1,000
105 FET ek d $1, 000
106 FER I Mok $1,000
107 §EF Bk B $1,500
108 FER TS $1,500
109 §E ok 3 $3,500
110 E ki $1,000
111 §EF ek $1,500
112 §ER 5 %% $1,000
113 §ER thx $1,500
114 §ER I ok $1, 000
115 &A% IF kD $1,500
116 5A R Py $1,000
117 EEEH $ *if $2, 000
118 5E R Ex $1,000
119 ©EEH b g $1, 500
120 A I ki $1,500
121 ©EEH Ak $1, 500
122 A I Bx2 $1,000
123 AR i ki $1,500
124 EERH 2 % i $1,000
125 AR ok $1,500
126 & W I e $1, 000
127 & % 1 k& $1,500
128 & % 1§ 2 x4 $1,000
129 AR ks $1,000
130 EERH ko $1,000
131 > LR W xng $1,500
132 <+ LR Hx s $2,500
133 > LR s i $3,000
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134 > LR ok g $2,000
135 < LR 1 $2, 000
136 2 LR £k $2,500
137 i Py $4,000
138 > LR Sk $1,500
139 > LR 1% $2, 500
140 v LR sk $1, 000
141 > LR T K $1,000
142 2 LR Ak $2,500
143 < LR ik $1,000
144 > LR L $2,500
145 > LR ok = $3,500
146 v LR i x2 $1,000
147 © LR ks $1,000
148 v LR 1%1 $2, 500
149 © LR s $1,500
150 * g Ek i $1, 500
151 * LRI ki $1,000
152 2 LR xR $1, 500
153 < LR 5 k4 $1, 500
154 v LR FEUES $1,000
155 © L I ok B $2, 500
156 v LR kT $1,000
157 SR gk $2,500
158 <+ LR okl $1,000
159 Ry ok $1,000
160 <+ LR =kt $1,000
161 © LR Hik 2 $1, 000
162 <+ LR 2XE $4,000
163 SR Bk i $1,000
164 > LR B Bk 4 $2,500
165 L Bxm $2, 500
166 > LR SOk $2, 500
167 RN ok 9 $1,000
168 c LM Bkt $2, 000
169 > LR Flk % $1,000
170 < LR 7%k $1, 000
171 @ L Fl kT $1, 000
172 <+ LR Pk g $1,000
173 <+ LR sk $3,000
174 LR 1 $1, 000
175 > LR i % IE $1,000
$300, 500
kX




